PHY 481/581 - HOMEWORK SET §

Northern Arizona University Due: 11/19/2018

Problem 1. Describe the difference between the free electron and nearly free electron models. Draw the
dispersion curves for both models using the extended and reduced zone schemes. What is the origin of

the band gap opening at the Brillouin zone boundaries? Be sure to label your drawings clearly.

Problem 2. Consider electrons of mass m moving in a one-dimensional “Dirac comb” potential defined

as

N-1
V(z)=a Z §(x — ja) (1)
j=1

where « is a “strength parameter” with units of energy, IV is the number of lattice points, and a is the

spacing between points in the direct lattice.

(a) Show that 9 (x + a) = e***i)(x) given that th(z) = ¢***u(x), where u(z (z + a) has periodicity

matching the lattice.

(b) Show that the solution to the Schrédinger equation is ¢(z) = Asin(gz) + B cos(qz), where g is the

wavenumber of the electron, for regions with V(z) = 0, in particular 0 < z < a.

(c) Using the continuity of the wave function at x = 0, derive
B = ¢7tka [4sin(qa) + B cos(ga)]. 2

(d) Using the discontinuity of the derivative at z = 0 given by

dy diyp

—2ma
—_ - — 3
d:l: =0+ dl' ( )

= T’ﬁ@)

=0~
derive the following relation:

_ 2ma

~7 B )

gqA — e'ik“q[A cos(ga) — Bsin(qa)]

(e) Use Egs. (2) & (4) to derive the relationship for allowed values of ¢ that we discussed in class (see

notes from Nov. 09). Draw the resulting curve and indicate the locations of the allowed and disallowed

bands. Make sure to mark your axes clearly.

Homework Ne 5 Page1/1




D Tr in 3 ree cleckn Mokl mrens
JrLL f)pjymjr\l l/ O @W\/wlwx. w\ thA Lo

\‘j\ %‘ 6/\’”/5"\ Ogr +Lt Qéo’th)/\ LS Sq'u{/\

L r
v\ 2 v A
E: a k' \

2 />k

|

s becanse 1o hwv eledms can be in e sanc
6\3‘&«’) \'\& nawies Cne {3/7) ONSSSJCL‘ L’j)ﬂcr\
Wl\‘L\ O\J,A{'{\“ﬂo\\ 6’6(!‘%0@3 m\\\ \Ht F/‘”‘" }M(

\H\ ﬂ&r 2, 6’(;(,%‘0/\ W/‘ﬂ(/((,) QASSues
e Vl”“dﬂp"jr“‘)” NRERE SRS Ry
693 N ‘P V/ (x)= Vbt WL«T
s Ha e Sf% ok The /) fordy

Cave )Qo\/\J c\ 5 ’}b C s 7L[u
Bl\own e EMonwe\s The 70}173 co | 23/
0§ this «Cec L onises o +L C/ec)nqj
Mo %e ’meol,f Sq*\s §v, ')“Lg

(g CmoH\m




# 1 ¢ Noved




W)

Q \/(Q“NZHXQ> 1 / ‘

zy\ c\ \ q ZC\ '30,7
Q\m@ comb

(OB SL“W (MM« = eé% %<>
(HXB - em\((/&(g
=) k’)bdv) % o ><7La>

= (,IQX ‘”"\ ><>

= kP@ /‘M L

o Yo yieed J(D R %}/‘m Og ’/(X)
Sor his /”Qfm

<® o V= O, Wuw SCL)/%)JA ea.
“h dtY v @ £ )




¥ Conhnvedd

CC> {/h/")jegl;mt@lv‘ ')‘O J-L._ J/ag.?[ og {,[\k O
at x=0, B)GQA‘S L oo oy DG,

%@ » ke [/km (x;a>c7 $ 15 cos (m)ﬁ
Cor~ (-ax< X<O>

C X=0, Vs cnfias




T Cw+fnuea(

(dv %\(xﬂ/ x=pt B g(\’;(j)/x:o‘ _ —z%ﬂzo( %[O}
- ‘Zk& v
%\g’x:@a‘ - C [O}A ceo ((70&3 ‘7ﬁ S,TQ@CLBJ

éﬂf

b = AAs(®) @V/@

LKQ[CI/IC%ZﬁQ 7/35/)@ \]
='2/;203%(Q>:.$6/







